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First look (for us) at
TOF DSTs

e Data looked at:
e U59GeV, Bi120, LH, 20

e Selection cuts:
e NTrks <20

e ] Beam track

0 < BeamTrackTime < 15ns

e vertex consistent with target

e at least 3 tracks in vertex

e -5 < TrackTime < 50ns

e 1.0 <pTot <3.0GeV

e single track match with TOF bar
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TO distribution
looks clean for
120 GeV, but
not for LH?2.

Tighter cuts on
tails
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BC track time, ns
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trkY vs TDCdifference
Slope=propagation speed

Need to fit for each bar &
use this to account for
time of propagation in
bar
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Why the structure in the
[LH2 data and not
others?
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Const: -42.87 = 0.26
Slope: 7.136 = 0.034
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Slope = 7 cm/ns

In TOF2007.cxx

tdc=

[
botpmt—tdc

- evt—t0
- tofbar—ds/c +
(-150.0-tofbar—y)/16.7
I

BTW:

No TOF constants
in DB rofcalib for
Runs > 160047
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Average of top and
bottom PMTs shows

a double-peak not
visible in (Top-Bottom)

Double-peak not
seen in 120 GeV B1?
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All tracks in vtx

[ o b b by T
-350 -845 -840 -835 -830 -825 -820 -815 -810
L, [cm]

hist5
Entries 285566

24000 o 572
22000
20000F _
8000 = 120 GeV/c, Bi
F§6000F
<H4000}-
$2000f
$0000F
>8000
6000
4000F
2000F
L I —tr o Ly T
850 -845 -840 -835 -830 -825 -820
Zvrt’ [Cm]

vtx—ntrk = 2

815 -810

Almost all codes in DST Analysis/TOF2007
are looping over only the tracks. This 1s dangerous.



